


nt 9 = ~ | -

J
,f,%@m RN IR
(! >m3.@
-\—\4 o J:\i—sacnw
; o |

prmtS("OxBx ", 4y
Ox FEFEET ST






,gras\:"‘“o,(-“,\
k — CL[’\} s\gi‘woma?
: \/O\oo 00t & h

3 0100 00 (]| K

I ,"\S'
S;[//@x%()?ﬂ\” ) )
?P‘M—o 5000004(




P
O
X
ST
¢FFe
e_






& hav O/l’\ = OXL“
‘Frm"'?(”%&\n” C‘/L\S)'

'FY‘!Y\'*‘; WG“B
an intT

DPrvmo‘\’e QJ\ > (h‘l— [C\ér\elf@ﬁ%
@ Peint e e

ReénH‘ 3 (o (



& hav O/l’\ OXC/C
peodt (" Zd\n" “/L‘S

‘FY‘!Y\“‘; WIS
an nt

+h
DPrvmo‘\’e QJ\ > (h“- /C‘én QULGGA
@ Peint the aE

ReénH‘ N SD



[ i B
061) O 10 = 32+16+ 2 =50



One move ’Hmné &S\Y"‘ar class

S al<o Ases
S‘aﬂ Q;@’\’E_v\giow

\/\“'\€V\ 7/0\« sl\(;’)’ V‘la_l\'\')

’H\e_ -‘3\’(‘5 'H'\d\—(- ?Iaw I~ ‘?Vow\

’\/Le \e_%“ 0'\¢‘>ﬁh3\ on ‘\J’%
Yoest ot

or\a\m\ e



Wk = &O)
|V\”\' a — Ck >>g_>)'

k Tgoeo 0000 600D G036 000D OOGOIOOOIOJDD\ 20

¢ ey = =

3 00 00 000T 0500 S ©OO peso odddOID GTD‘ )




nr K = “‘&D)‘
mt A = (& >> Q\))

K TV IO VOO L TUD e |-
F‘V—i__/—
) E‘“ L e g i i e [ -5

/
 exTensn I

S\é



W hat Aot un s %“"’-A?

v\omd"_lb\/\ aw
? S lH [’loxﬂse_nﬁ.

lu\ﬁtémo\ C/l'\rd‘ (‘J’\ o =
UNC (S“Qak ot K ;—(ZJ\XC(:/
/

S |
ér\ ex"‘er\smv\ Aae,g Y)zs’f

Al extens drs m
—  or 2D &Kre O L+S



